Algebra
Unit 5 Test Review
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.For each sequence, state if it is arithmetic or geometric and write the explicit formula.

1) -2, -4, -8, -16, -32
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Sketch the graph of each function, State if it is exponential growth or decay.
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Q=2 b=1
Find the average rate of change from [-2, 2] for the following exponential functions.
11. y=100(.5)* [2. y=100(2)" Loo-25
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13. Discuss and compare the functions by analyzing the rates of change, intercepts, and where one

function is greater or less than the other. -F (
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Linear and Exponential Models: l
14, Write an explicit formula to model the number of dots per day.
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15. Sherry has a huge doll collection of 80 dolls. Her mom tells her that she needs to g€ to get

it down to a decent number before leaving for college. Write an explicit formula to model the number of dolls
per year. If she is 12, how many will she have left when she is 18?7 L-wyear) Y =-5(<\+§0
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16. You bought a Boston Whaler in 2004 for $12,500. The boat’s value depreciates by 7% a year. How much is
the boat worth now? How much i 1s it worth in 20207

Y=1250001-.01)"° = 12500 (A%)" :

17. The population of a large city increases by tripling each year. When the 2000 census was taken, the
population was 1000.
a) Write a model for this population growth.

000 (1+2.)F = 10Co (2)*

b) What should the populatlon be now? What is the projected population for 20207 Q
nowr Y= \OC.O(%} 2010 Y=1oco (B
o =y -
de e D 3.5 x10*




